PRACITICE

5.3 Slope (Rate of Change)

Tell whether the slope of the line is positive, negative, zero or undefined. Then find the slope if it exists.
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4. ERROR ANALYSIS Describe and correct by
the error in calculating the slope of the (6, 3)
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They put x minus x over y minus y instead of y minus y over x minus x.
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Find the slope of the line that passes through the points.
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8. (-9,1)and (1, 1)

* MULTIPLE CHOICE The slope of the line that passes through the
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" points (-2, -3) and (8, -3)is _2_.
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Find the slope of the object.

10. Skateboard ramp
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11. Pet ramp

12. Boat ramp
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Find the slope (rate of change) for the following.
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books. He handouts 2 books He already has 200 dollars. V= 2 ¥
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SKILLZ REVIEW
GRAPH SIMPLIFY SOLVE
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. For extra help, check the Skillz Review video!

. Describe how to move from point
C(0,3) to point D(2, —3).




